- Maremaruk X33 | (X X ) A3N3XYYHUIAT XIMKMX HIMK (11, M)

(O3 oT= L ] [ T o PR RRR OX3MC3H: ... OH ........ cap ........ enep
) | 1n=1000mn 2 n 617Mm = 2617 mn / \2607 Mn\ =2 n 607 mn |
ada ~2n | 617 mn 12000 n | (607 mn| '
1000 Mn=1n !

(2 x1000) mn + 617 mn (2000 + 1000) nn + 607 mn

HyyccaH: ........ cap ........ egep

MunnnnnTpaap nnapxmmnaapan. Knwaa: 3 n = (3 x 1000) mn = 3000 mn

a.ln= rr.4n=
6.6n= a.7n=
B.8n= e.10n=

JTntpaap nnapxmninnaapan. Kuwaa: 3000 mn = (3000 + 1000) n =3 n

a. 1000 mn = r. 2000 mn =
0. 4000 mn = a. 6000 mn =
B. 10000 mn = e. 7000 mn =

MunnunnTpasp NNIPXMMNa3IPan.
HKnwaa: 3n2mn=3n+2mn=(3x1000) mn + 2 mn = 3002 mn

a.3n 750 mn =
0.6 n1235mn =
B.9n12mn=

r.r.7n9mn=

Jlntp 62 MUANUAUTPIIP UNIPXUNNIIPIN.
HKnwaa: 3002 mn = 3000 mn + 2 mn = (3000 = 1000)n+2mMn=3n2 Mmn

a. 7890 mn =
6.4519 mn =
B. 6072 mn =
r. 2006 mn =

Toor 30xMoH B1MY33pan. a)-4 n-33p, 6), B)-4 N 6a M-93p UNIPXMNNIIPIN.

a. ‘nl MmN =

6. Mn =
B. . ™Mn =
[aanraBap 1 2 3 4
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‘ Matematuk X33 | (¥ ¥ ) 33N3XYYHUIA X3IMKIIM KULLINX

(@3 oT TR [ L Y o L OX3MC3H: ... OH ........ cap ........ eqep

'ﬂZI 21617 mn > 2607 mn 6aitHa. Slaraag Ba?

2n617 mn = 2617 mn 6=6
2=2 |

2=2, 6=6, 1>0 ==
1>0

| » » |
i 2617 Mn > 2607 mn 2617 mn [>] 2607 mn

1 | TOOHyyabIr XULLIIPIM.
a.506 | 507 6.204 1004 B.4751 | 4750 . 8362 | 8326

2, 3, 4 oyroap AaanraBapT LUMHIIHUN XOMXKI3T XULLIIPIN.

2 | a.1450 mn 1n45mn B. 4 1900 mn D 4901 mn
- 1n45mn | = 1045 mn 41900 mn | = M1
1000 mn | | 45mn | ( mn| | il
6. 3198 mn D 3 n 200 mn rr.1n20wmn D 1002 mn
31200 mn | = M - 1n20mn | = MI
\ﬁ: mn | mn \ﬁ: mn | M
3 ) a.504 mn 503mn B.201 Mn | 4502mMn g4.6127mn | 6128 Mn
6.710mn | 701mn  r.1402mn 600mMn e.9002mn | 9020 mn
4 ) a.4n70wmn 4 n 690 mn F.8J1205MJ‘ID 8 n 250 mn
6. 51620 mn D 4 n 620 mn 0.16n7mn | 6n95mn
B. 7 N 432 mn D 7 n423 mn e.3n56mn | 13156 mn

5 | Byypax apamb63ap 614aapa.
a.2057mn, 2n570mn, 2n75wMn B. 1n 300 mn, 1301 mn, 1 n 30 mn
\i J J ( :\ \: ) ( J [ J
6. 5n83 mn, 5483 mn, 5n438 mn r. 41250 mn, 4025 mn, 4 n 520 mn
| | | | | | | | | |

6 | ©rceH Hexuen bruenxk Ganx Xuwaa Tyc Byp XOEPbIr BUYIIPIN.
a.l 1/n600mMn >1n! M . n600mMn > 10! | mn
6./ 'n350mn< n mn | n350mn < |nl | M
HaanraBap 1 2 3 4 5 6
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HyyccaH: ........ cap ........ egep




‘ MaTtemaTuk \ X33 \ m A3M3XYYHUM X3IMXKIIH A33pP YANLIN ryMU3Trax

(O3 oT= L ] [ T o PR RRR

m
6n254 mMn+2n314 mn=

(6n+2n)+(254 mn + 314 mn)

/
8n+568 vn=8n568 mMmn

—
6n254mn-2n134mn=
(6n—2n)+(254 mn— 134 mn)
/
4n+120mMn=4n120 mn |

1-39c 6 ayraap gaanraBapT YAUNANUAT T'YULITra3p3MN.

1 ) a.260 +430 = B. 3024 + 2952 = A. 5624 — 314 =
6. 1260 + 325 = . 736 —434 = e. 9582 - 6371 =

2  a.327vmn+410mn = M r. 675 mn—470mn = Mn
0. 4468 mn + 321 mn = M a. 2943 mn—532 mn = M
B. 3046 mn + 2813 mn = M e. 4389 mn — 1265 mn = M

3 a.b2n+24n-= n r64n-43n= n
0.604n+272n= n 0.857n-253n-= n
B.3271n+1420n = n e.4725n-1623n = n

4 a.3n70mMn+613Mn=_ n Mn B.6n947 Mn—-907Mn=_n M
6.4n116mMn+213Mn=_n Mn L 7n725vMn-525mMn=_n M

5 | Kuwea:4n436mMn+3n21mMn=4n+3n+436 mn+ 21 Mn=7n457 mn

a.2n 240 mn + 6 n 350 mn

0.5n243 mn+2n414 mn =

6  Knwsa:4nd436mn-3n21tmn=@4n-3n)+ (436 Mn—21mn)=1n415mn

a.3n640 mn—-3n 120 mn
0.4n872mMn—-2n 262 Mmn
B. 9N 675 mMn—6n462 mn

7 ) WUMHraHMIA XaMXKI3T MXKNIT HANKI3P UNIPXMIANSH YANANNAT TYNUSTra3pant.

a.2437mn+ 3 n 541 mn =
0.7 n 954 mn — 6831 Mn =

8 | 3arBapT TOXMPOX HUNNBIPUIT BUY33A, YANOVUAT TYULITII9PIMN.

[ ol T T Tmn [+[ Ia[ T T [mn =

[aanraBap 112 (3|4 |5 |6|7) 8
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‘ MaTemaTMK[ X33 j\ OX X)) 33naxyyHuWit XamMx33H A33p YANA3N FyALITIaxX

CYPATUUAH HIP: eeeeeiieeeiieeee e e eee e et OXAMNCIH: ...cnnee. OH ........ cap ........ enep
1 Hemox | Xacax :
‘HZI 77 1 7 11 3 1 7 1 3 H 7

Q S L L n S Lmr [ M1 Vv M i
£ 30 un | [ 2 35 Gun 2.3 Qun | [ Za 37 Gun
[/ MIT I [/ M éj 5/\//}7 n mi
1-99C 6 ayraap gaanraBapT YANANUAT 'YULITra3paMN.
1 a 0. /] B. 3
( 320, O
2  a. v 6. v B. v
() Omr 2.0 9 Owmn 3. wr
M1 \ M1 M1
2.5 0 Omn 30 6 Omn 9 7 Fmn
MIJ1 MIJ1 MIJ1
4 ) a. n M 6. nl 2 7 Omn B. Hn M
n| £ () O 4n| D& Omm 30 99 Fum
J1 M1 J1 M1 J1 M1
S a Hal 6 Omn 6. al 4 3 Ow B. al 25 Jwr
3 bl M1 n M1 1 [/ ? (?Mﬂ
J1 MI1 J1 MIJT J1 MIJT
6 a nl & 3 Lun 6. n M B. n M
bl ? MIT L/n L n q ? Z/’VU"
J1 MIJ1 J1 MIJT J1 MIJT
7 | 3arBapT TOXMPOX TOOT BUUMXK, YUNANUIAT TYALSTIaapalt.
a. J1 M1 6 J1 MIJT B. J1 MJT
J1 MJ1 J1 MIJT J1 MJT
J1 M1 J1 M1 J1 M1
8 | baraHa Tyc 6yp 43X HUMNG3p Hb 1 N Ganxaap XOOCOH HYA3HA HEXeX BMYI3PIN.

1 540 mn | 280 mn 730 mn 160 mn | 870 mn
n
460 mn 410 mn 390 mn | 620 mn
11 =1000 mn
[aanraBap 112 (3|4 |5 |6|7) 8
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. Matemamuk [ X33 | (O¥_ X)) 3naxyyHuil X3MKI3H A33P YANA3N ryALITIIX

a

‘2)a

CYPATUUAH HIP: eeeeeiieeeiieeee e e eee e et OXAMNCIH: ...cnnee. OH ........ cap ........ enep
'ﬁZI ~ Tooroop ypxyymex | Toounxysaax  / 7'A7 | | ;
4 5‘;” 4 6‘;""" 476 + 7 = 68 (1) g :
=~ . :
n n v | 420 + 56 0 !
1-93c 3 gyraap gaanraBapT YUNANUAT I'YALSTII3PaN.
8 Gur O |24 7 Pur B AL 7 Fun n| 3 4 Jwr
6, \
M M n M n M
6730 % [ 7694w’ | 7n wi * [ 1 24 ?Z/W
n M n M n M
a. 935n+5 6. 4361 mn+7 B. 5238 Mn + 6
200 ()
439 18
40 ()
. (1)
(
LUnHraHmMm xamxaar 6ara Hank ypyy WKImKyymk 6ogoona, wanraapan.
a.1n24mn+4 6. 5n912mn+8 B. 8n226mn+9
1n24mn=1024mn  5n912mn=___ | )
07244
? N W)
7
4
L
U Ua Ua.
Z
(M)
; [aanrasap 1 2 3 4
[yyccaH: ........ cap ........ enep @ Gepuitn ywonres | () | ()| ©) ©)




